10 Sexuality and Gender
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MULTIPLE CHOICE

The Physical Side of Human Sexuality

Learning Objective 10.1 - What are the physical differences between females and males?

1. ____________ consists of the physiological changes in the sex organs and reproductive system that occur during adolescence, lasting about four years.

a) Sexual identity assignment

Incorrect. Puberty refers to the physical changes in the sex organs, not sexual identity.

b) Plateau development

c) The male and female menarche
d) Puberty
Correct. Puberty refers to the physical changes in the sex organs.
ANS: d, p. 396, F, LO=10.1, (1) 
2. Which female sex organ or process is present at birth?

a) breasts

Incorrect. The vagina is present at birth, whereas the others develop at puberty.

b) pubic hair

c) vagina

Correct. The vagina is present at birth, whereas the others develop at puberty.

d) menarche

ANS: c, p. 396, F, LO=10.1, (2) 

% correct 100      a= 0  b= 0  c= 100  d= 0      r = .00
3. Female sex organs that are present at birth are called ___________.

a) primary sex characteristics

Correct. Primary sex characteristics is the correct term for sex organs present at birth.

b) innate sex characteristics

Incorrect. The correct term for sex organs present at birth is primary sex characteristics.
c) secondary sex characteristics

d) hormonally determined sex characteristics

ANS: a, p. 396, F, LO=10.1, (2) 

% correct 100      a= 100  b= 0  c= 0  d= 0      r = .00
4. Which of the following is a female primary sex characteristic?

a) breasts

Incorrect. Breasts are a secondary sex characteristic.

b) pubic hair

c) vagina

Correct. The vagina is a primary sex characteristic.

d) prostate gland

ANS: c, p. 396, F, LO=10.1, (2) 

5. The primary male sex characteristic is the ______________.

a) penis

Incorrect. The penis is a primary male sex characteristic, but so is the scrotum and the prostate gland.

b) scrotum

c) prostate gland

d) All of these are primary sex characteristics.

Correct. The penis, scrotum, and prostate gland are all present in males at birth and, thus, are primary male sex characteristics.

ANS: d, p. 396, F, LO=10.1, (3) 

6. Female secondary sex characteristics consist of ______________.

a) the growth spurt

b) menstrual cycle

c) breast development

Incorrect. All of these are secondary sex characteristics.

d). All of these are female secondary sex characteristics.

Correct. All of these are secondary sex characteristics.
ANS: d, p. 397, F, LO=10.1, (3) 

% correct 89      a= 0  b= 7  c= 4  d= 89      r = .30
7. The breasts contain the _________ glands for milk production.

a) prostate

b) thyroid

c) mammal

Incorrect. The mammary glands are for milk production, and almost all mammals have them.

d) mammary

Correct. The mammary glands are for milk production.

ANS: d, p. 397, F, LO=10.1, (2) 

8. The growth spurt in female puberty usually starts at around _______ years of age.

a) 8–10

b) 10–12

Correct. The female growth spurt starts at around ages 10—12.

c) 12–14

Incorrect. The male growth spurt starts at around ages 12–14; the female growth spurt starts at around ages 10–12.

d) 14–16

ANS: b, p. 397, F, LO=10.1, (3) SG

9. At about age 12, a girl comes to her mother and says that she is going through a great deal of bodily changes. Most likely the girl is talking about ______________.

a) diminishment of the primary sex characteristics

Incorrect. The primary sex characteristics mature, not diminish, in 12-year-old girls.

b) development of secondary sex characteristics

Correct. The secondary sex characteristics are developing in most 12-year-old girls.

c) changes in the tertiary sex characteristics

d) getting too fat

ANS: b, p. 397, C, LO=10.1, (2) 
10. One secondary male sex characteristic is __________.

a) the penis

b) an enlarged larynx

Correct. An enlarged larynx is a secondary male sex characteristic.
c) the testicles

d) the prostate gland

Incorrect. The prostate gland is present in males at birth and, thus, is a primary sex characteristic.

ANS: b, p. 397-398, F, LO=10.1, (2) 

% correct 93      a= 4  b= 93  c= 0  d= 4      r = .24
11. One secondary male sex characteristic is __________.

a) the penis

b) a deep voice

Correct. A deep voice is a secondary male sex characteristic, since it doesn’t appear until puberty.

c) testicles

d) prostate gland

Incorrect. The prostate gland is present in males at birth and, thus, is a primary sex characteristic.

ANS: b, p. 397-398, F, LO=10.1, (2) 

12. One secondary male sex characteristic is __________.

a) the penis

b) facial and chest hair

Correct. Facial and chest hair is a secondary male sex characteristic, since it doesn’t appear until puberty.

c) the testicles

d) the prostate gland

Incorrect. The prostate gland is present in males at birth and, thus, is a primary sex characteristic. 

ANS: b, p. 397-398, F, LO=10.1, (2) 

13. A young boy develops facial and chest hair, pubic hair, and an enlarged Adam’s apple. This happens because puberty is stimulating the development of his ___________.

a) primary sex characteristics

Incorrect. Puberty stimulates the development of secondary sex characteristics.

b) secondary sex characteristics

Correct. Puberty stimulates the development of secondary sex characteristics, such as facial and chest hair and an enlarged Adam’s apple in males.

c) male attachment characteristics

d) reproductive signaling characteristics

ANS: b, p. 397-398, F, LO=10.1, (2) 

14. The primary sex characteristics develop as _______________.

a) the fetus is growing in the womb, when the chromosomes of the 23rd pair cause the release of the proper hormones to stimulate the growth of the sex organs 

Correct. The release of the proper hormones in the womb stimulates the growth of the sex organs.

b) proper hormones in the mother’s milk stimulate the growth of the sex organs

Incorrect. The release of the proper hormones in the womb, not the milk, is responsible for the development of primary sex characteristics.

c) the baby is raised as a male or female. The behavioral cues stimulate the baby to release the appropriate male or female hormones and develop as such

d) none of these 

ANS: a, p. 398, F, LO=10.1, (2) 
% correct 93      a= 93  b= 0  c= 0  d= 7      r = .46
15. Which hormones are responsible for a child’s developing as a female during pregnancy?

a) estrogens

Correct. Estrogens are responsible for a child’s developing as a female during pregnancy.

b) androgens

Incorrect. Androgens are related to male, not female, development.

c) ACTH

d) pituitary hormone

ANS: a, p. 398, F, LO=10.1, (1) 

16. Hermaphroditus was the Greek god whose name is the root of the term that has been used to describe __________.

a) homosexuality

Incorrect. Homosexuals are not called hermaphrodites unless they are intersexed individuals.

b) bisexuality

c) intersexed individuals

Correct. Intersexed individuals are called hermaphrodites, a term that comes from the name of the Greek god.

d) Zeusism

ANS: c, p. 398, F, LO=10.1, (2) 

17. What is the incidence of children born as intersexed, or intersexual, individuals?

a) 1 out of 50

b) 1 out of 500

Incorrect. One out of 1,500 babies is born intersexed.

c) 1 out of 1,500

Correct. One out of 1,500 babies is born intersexed.

d) 1 out 50,000

ANS: c, p. 398, F, LO=10.1, (3) 

18. A person who is described as intersexed is ___________.

a) an individual who is born with ambiguous sex organs

Correct. Intersexed individuals are born with ambiguous sex organs.

b) an individual who is surgically reassigned at birth so that he or she seems to be of the sex opposite to what is expected from the chromosomes

c) an individual with normal body development who cannot decide whether to act as a male or a female

d) a homosexual

Incorrect. Intersexed individuals are people born with ambiguous sex organs.

ANS: a, p. 398-399, C, LO=10.1, (2)
% correct 82      a= 82  b= 11  c= 4  d= 4      r = .40
19. What is the term for the condition in which a person is born with both male and female sex organs?

a) homosexuality

b) bisexuality

Incorrect. Bisexuality is a sexual orientation in which people feel desire for both men and women.

c) intrasexualism

d) hermaphroditism

Correct. Hermaphroditism is the term for the condition of someone born with both male and female sex organs.

ANS: d, p. 398-399, F, LO=10.1, (3)
20. In the middle to late 1900s, medical professionals typically recommended that intersexed children ______________.

a) have their genitals surgically altered to clearly be one sex or the other based on appearance rather than on their sex chromosomes

Correct. Medical professionals typically recommended that intersexed children have their genitals surgically altered to clearly be one sex or the other based on appearance. 

b) have their genitals surgically altered based on karotype

c) not be operated on until after puberty and the child be consulted about what outcome he or she wanted

Incorrect. Medical professionals typically recommended that intersexed children have their genitals surgically altered to clearly be one sex or the other based on appearance.

d) never have any kind of reconstructive or altered surgery on their genitals

ANS: a, p. 398-399, F, LO=10.1 (2) 

21. One problem with surgically altering the genitals of an intersexed child is that ___________.

a) this method ignores the sex chromosomes of the child

Incorrect. All of these choices are correct.

b) it may lead to depression later in life

c) it does not give the child a choice in this most personal of issues

d) All of these choices are problems with the procedure in question.

Correct. All of these choices are correct.

ANS: d, p. 398-399, C, LO=10.1, (3) 

The Psychological Side of Human Sexuality: Gender

Learning Objective 10.2 - What is gender, and how can biology and learning influence gender role development?

22. Psychology has many terms for human sexuality concepts. What is an alternative term for hermaphroditism?

a) homosexual

b) gender specific

Incorrect. The book stated that the correct term would be intersex.

c) intersex

Correct. This is the correct term.

d) heterosexual

ANS: c, p. 399, A, LO=10.2, (1)

23. A culture’s expectation of masculine and feminine behaviors can be defined as _____________________.

a) homosexual

b) heterosexual

Incorrect. The correct answer is gender roles and heterosexuality is not related to cultural expectations.

c) gender roles

Correct. Gender roles include attitudes, actions, and personality traits.

d) gender typing

ANS: c, p. 399, C, LO=10.2, (2)

24. ________ is the process by which people learn their culture’s preferences and expectations for proper “masculine” and “feminine” behaviors.

a) Gender role

Incorrect. A gender role is a type of behavior one adopts based on society’s expectations for a male versus a female.

b) Gender identity

c) Gender typing

Correct. Gender identity is the process by which people learn their culture’s preferences and expectations for proper “masculine” and “feminine” behaviors.

d) Gender stereotyping 

ANS: c, p. 399-400, F, LO=10.2, (2) SG

25. Studies of genetically male children who were surgically altered to appear as females found that ____________.

a) almost all of them were happy that they were raised as females

Incorrect. Fourteen of the altered males preferred male play activities.

b) they preferred to play with feminine toys such as dolls

c) half acted more like boys and half acted more like girls

d) they preferred male play activities

Correct. The altered males preferred male play activities.

ANS: d, p. 400, F, LO=10.2, (2) 

% correct 54      a= 4  b= 21  c= 21  d= 54      r = .53
26. Rashid feels that he was meant to be a woman, even though he is a man. He is contemplating surgery to alter his bodily appearance to that of a woman. Rashid might be suffering from a disorder known as ____________.

a) feminine status disorder

b) male misidentity disorder

Incorrect. Although male misidentity disorder sounds plausible, the term psychologists use is gender identity disorder.

c) inverted sex role syndrome

d) gender identity disorder

Correct. A person who feels his or her body has the wrong sex organs and characteristics is said to be suffering from gender identity disorder.

ANS: d, p. 400, A, LO=10.2, (2)
% correct 100      a= 0  b= 0  c= 0  d= 100      r = .00
27. A person contemplating surgery to alter his or her bodily appearance to that of the opposite sex is thinking about becoming a(n) ________.
a) homosexual

b) transvestite

Incorrect. A transvestite is a man who dresses up in women’s clothes, not someone who surgically alters his body.

c) transsexual

Correct. To surgically alter one’s bodily appearance to that of the opposite sex is to become a transsexual.

d) inverted sex role participant

ANS: c, p. 400, C, LO=10.2, (2)
28. Native American tribes ___________.

a) have long recognized the existence of people who want to act like those of the opposite sex

Incorrect. Both choices a and b are true.

b) have become, through exposure to the homophobic attitudes of the dominant U.S. culture, less tolerant of homosexuality

c) Both choices a and b are true

Correct. Both choices a and b are true.

d) none of these choices are true

ANS: c, p. 400, F, LO=10.2, (3) 

29. Fifteen year old Latisha feels that she has been a “boy trapped in a girl’s body” for as long as she can remember. She is learning about sexual reassignment surgery from her mother, who supports her daughter after taking her to a doctor who diagnosed her as having ______________.

a) gender roles disorder

b) gender identity disorder

Correct. Latisha could correctly be diagnosed with this disorder and choose to have surgery.

c) gender confusion disorder

d) gender denial disorder

Incorrect. This is a fictitious term.

ANS: b, p. 400, A, LO=10.2 (3)

30. Based on the studies of infant girls who were exposed to androgens before birth, which of the following statements is true?

a) In these studies, the girls were found to be tomboys during early childhood.

Correct. In these studies, the girls were found to be tomboys during early childhood.

b) In these studies, the girls were found to prefer feminine actives during early childhood.

c) In these studies, the majority of the girls grew up to be lesbians.

Incorrect. The girls did not grow up to be lesbians but to be very typical females.

d) In these studies, there were no noticeable effects due to these treatments.

ANS: a, p. 400-401, F, LO=10.2, (3) 

% correct 79      a= 79  b= 4  c= 4  d= 11      r = .31
31. Based on the studies of girls who were exposed to androgens before birth, which of the following statements is true?

a) When these girls grew up, they became more typically “female” in their desire for marriage and motherhood.

Correct. These girls became more typically “female” in their desire for marriage and motherhood.

b) The girls were found to prefer feminine activities during early childhood.

c) The majority of the girls grew up to be lesbians.

Incorrect. The girls grew up to be typically “female” in their desire for marriage and motherhood.

d) There were no noticeable effects of the androgen exposure. 

ANS: a, p. 400-401, C, LO=10.2, (3) 

32. According to research, infant girls who were exposed to androgens were found to be more likely to ____________.

a) have a very “feminine” childhood and prefer to play with dolls.

b) be “tomboys” during their childhood but grew up to be more “typically female” in adulthood and had a desire for marriage and motherhood.

Correct. Research shows that androgen exposure could have led to these behaviors during a young age.

c) be “feminine” during their childhood but grew up to be more “typically male” in adulthood and less emotional than other women.

d) have a very “masculine” attitude in adulthood despite their sex.

Incorrect. This was not found according to the research.

ANS: b, p. 400-401, F LO=10.2 (2)

33. According to fMRI images taken when both men and women were shown erotic images, researchers found that the amygdala and hypothalamus areas of the limbic system were __________________.

a) more strongly active in men than women.

Correct. Research showed the men had a stronger level of activity in the fMRI than women indicating that perhaps biology could be a factor in this reaction.

b) more strongly active in women than men.

c) equally active in both men and women.

d) more active for women during their menstrual cycle.

Incorrect. This was not discussed in the book.

ANS: a, p. 401, F, LO=10.2, (3)

34. Which term has the most negative connotation in our culture?

a) tomboy

Incorrect. Tomboy is not considered an insult, as most people do not disapprove of girls who engage in activities that boys typically prefer.

b) sissy

Correct. Sissy is considered to be an insult, as our society tends to disapprove of boys who engage in activities that girls typically prefer. 

c) masculine

d) feminine

ANS: b, p. 401, F, LO=10.2, (3) 

% correct 89      a= 0  b= 89  c= 4  d= 7      r = .19
35. Traditional views of gender roles are more likely found in ____________.

a) collectivist cultures

Correct. Collectivist cultures are more traditional than individualistic ones. 

b) individualistic cultures

Incorrect. Collectivist cultures are more traditional than individualistic ones.

c) countries like the Netherlands, Germany, Italy, and England

d) none of these 

ANS: a, p. 401, F, LO=10.2, (2) SG

% correct 85      a= 85  b= 11  c= 3  d= 1      r = .45
36. When men and women view erotic pictures, the __________ are more strongly activated in men than women.

a) visual cortex and thalamus

b) pons and hindbrain

c) amygdala and hypothalamus

Correct. The amygdala and hypothalamus are more strongly activated in men than women.

d) hippocampus and cingulate gyrus

Incorrect. The amygdala and hypothalamus are more strongly activated in men than women. The hippocampus is more involved in memory.

ANS: c, p. 401, F, LO=10.2, (2)
% correct 93      a= 0  b= 0  c= 93  d= 7      r = .19
37. The enhanced brain response of men to erotic images may be due to ___________.

a) the more primitive male’s need to identify sexually receptive females

Correct. Enhanced responses may be due to the need to identify sexually receptive females.

b) the large occipital lobes of the male brain

c) males’ socialization to be sexually aggressive

d) females having developed a learned stimulus for sexual arousal

Incorrect. Enhanced responses may be due to the need to identify sexually receptive females.

ANS: a, p. 401, C, LO=10.2, (3) 

38. Countries like the Netherlands, Germany, Italy, and England are more likely to have ______________.

a) nontraditional views of gender

Correct.  The Netherlands, Germany, Italy, and England are more individualistic than collectivistic and, therefore, have nontraditional views.

b) a collectivist society

c) very constrained roles for women in society

d) a strong tradition of women staying home

Incorrect. The Netherlands, Germany, Italy, and England have nontraditional views, which allows for more freedom for women to work outside the home.

ANS: a, p. 401-402, F, LO=10.2, (2)

39. Research on differences in male and female brain activity has found that ________________,

a) when doing language tasks, women’s brains tend to be more active in the right hemisphere than men.

Incorrect. This is a correct answer, but not the best for this question as “d.”

b) men use the right side of the brain for emotional expression whereas women use both sides.

c) men use the left side of the brain for visual/spatial expression whereas women use both sides.

d) all of the above.

Correct. Research showed all of these to be true.

ANS: d, p. 402, F, LO=10.2, (3)

40. Psychologist_____________ believes that the biological differences between males and females help to create different contexts in which boys and girls are raised.

a) Sigmund Freud

b) John Money

Incorrect. Maccoby believes in this view.
c) John Watson

d) Eleanor Maccoby

Correct. Maccoby believes in this view.

ANS: d, p. 402, F, LO=10.2, (3)
Learning Objective 10.3 - How do gender roles develop, and how can they be influenced by stereotypes or an emphasis on androgyny?

41. When children observe their same-sex parents behaving in certain ways and imitate that behavior, a psychologist uses which theory to explain the situation?

a) Freudian psychoanalysis

b) Piaget’s theory of development

c) gender schema theory

Incorrect. Gender schema theory deals with children developing mental patterns for male and female.

d) social learning theory

Correct. Social learning theory deals with observing behavior and imitating behavior.
ANS: d, p. 403-404, F, LO=10.3, (2) SG

% correct 61      a= 0  b= 0  c= 39  d= 61      r = .20
42. Rashid and Tawana are watching the classic TV show Leave It to Beaver. After watching the show, they decide to play. Rashid says he will be Ward Cleaver and Tawana should play June Cleaver. This play situation would be best explained by _________.

a) Freudian psychoanalysis

b) Piaget’s theory of development

c) gender schema theory

Incorrect. Gender schema theory focuses more on mental patterns than on imitation. 

d) social learning theory

Correct. Social learning theory would best explain imitating male and female role models and how TV influences behavior.

ANS: d, p. 403-404, A, LO=10.3, (2) 

43. Sue sees her mother knitting a sweater. Later, Sue takes out a ball of yarn and some knitting needles from her mother’s supplies and tries to do the same. This is a good example of the ____________ theory of gender development. 

a) gender schema theory

Incorrect. Gender schema theory focuses on mental patterns, not imitation. 

b) gender role theory

c) psychoanalytic theory

d) social learning theory

Correct. Social learning theory focuses on imitation of male and female role models.

ANS: d, p. 403-404, A, LO=10.3, (2) 

% correct 78      a= 0  b= 8  c= 14  d= 78      r = .21
44. The tendency of children to develop a mental pattern for being male or female in much the same way they develop other concepts, such as “dog,” “bird,” and “big,” can best be explained by ___________.

a) Freudian psychoanalysis

b) Piaget’s theory of development

c) gender schema theory

Correct. Gender schema theory deals with children developing mental patterns for male and female.

d) social learning theory

Incorrect. Social learning theory deals with observing behavior and imitating behavior. Gender schema theory deals with developing mental patterns for male and female.

ANS: c, p. 404, C, LO=10.3, (2) 
% correct 93      a= 3  b= 4  c= 93  d= 0      r = .17
45. Gender schema theory is based on _______________.

a) Freudian psychoanalysis

b) Piaget’s theory of development

Correct. Gender schema theory is based on Piaget’s work.
c) biological inheritance theory

d) social learning theory

Incorrect. Gender schema theory is based on Piaget’s work.

ANS: b, p. 404, F, LO=10.3, (2) 

46. A ______________ is a concept about males or females that assigns various characteristics to them on the basis of nothing more than being male or female. 

a) gender stereotype

Correct. A gender stereotype is an assumption as to what a person or group of people is like based only on being male or female.

b) sex role

Incorrect. A sex role is the assignment of characteristics based on being male or female. A gender stereotype is an assumption as to what a person or group of people is like based only on whether the person or group is male or female.

c) gender role

d) sexual orientation

ANS: a, p. 404, F, LO=10.3, (1) 

% correct 57      a= 57  b= 0  c= 43  d= 0      r = .42
% correct 52      a= 52  b= 0  c= 48  d= 0      r = .34
47. Shaquilla says that all men are insensitive and unemotional. She is probably expressing a __________.

a) gender stereotype

Correct. A gender stereotype is an assumption as to what a person or group of people is like based only on a person or group of people being male or female.

b) sex role

Incorrect. A sex role is the assignment of characteristics based on being male or female.

c) gender role

d) sexual orientation

ANS: a, p. 404, A, LO=10.3, (1) 
% correct 96      a= 96  b= 2  c= 2  d= 0      r = .17
48. Which characteristic is NOT usually considered part of the male gender stereotype?

a) aggressive

b) logical

Incorrect. The stereotype of men is that they are logical but not emotional.
c) decisive

d) emotional 

Correct. The stereotype of men is that they are not emotional.

ANS: d, p. 404, F, LO=10.3, (1)
49. Which characteristic is NOT usually considered part of the female gender stereotype?

a) nurturing

b) logical

Correct. A negative stereotype of women assumes that they are not logical.

c) sensitive

d) emotional 

Incorrect. The stereotype of women is that they are emotional.

ANS: b, p. 404, F, LO=10.3, (3)

50. Desperate for help with her computer, Dana calls her fiancé, thinking that he will know what to do because he is a man, and men are natural fixers. Dana’s thinking in this instance is an example of ______________.

a) androgyny

b) schema error

c) benevolent sexism

Correct. Benevolent sexism is the result of thinking that all men or all women have some particular desirable trait, simply because of their sex.

d) negative stereotyping

Incorrect. Negative stereotyping would be the case if Dana assumed something negative about her fiancé just because he is a man.

ANS: c, p. 404-405, C, LO=10.3, (3) SG

51. The acceptance of positive stereotypes regarding gender can lead to _________.

a) proactive prejudice 

Incorrect. Proactive prejudice is not a real term.  Positive stereotypes lead to benevolent sexism.

b) neutral sexism

c) benevolent sexism

Correct. Positive stereotypes lead to benevolent sexism, which is the result of thinking that all men or all women have some particular desirable trait simply because of their sex.

d) genderism

ANS: c, p. 404-405, F, LO=10.3, (1) 

52. The term benevolent sexism was proposed by ________.

a) Maccoby

b) Masters and Johnson

Incorrect. Glick and Fiske proposed the term benevolent sexism. Masters and Johnson studied the sex act.

c) Glick and Fiske

Correct. Glick and Fiske proposed the term benevolent sexism.
d) Ford and Glock

ANS: c, p. 404-405, F, LO=10.3, (3) 

53. Sam is a father of two children and has a career as a professor at a university. He is nurturant and sensitive to his children’s needs, able to express emotions outwardly, independent and assertive, and thinks problems through calmly and logically. Sam is a good example of a person who is _____________.

a) masculine

b) feminine

Incorrect. Sam is a good example of a person who is androgynous, as he has characteristics normally associated with each gender.

c) transsexual

d) androgynous

Correct. Sam is a good example of a person who is androgynous because his personality traits are not limited to those that are part of the stereotype for men.

ANS: d, p. 405, C, LO=10.3, (2) 

54. Psychologist Sandra Bem (1975, 1981) developed the concept of ___________.

a) androgyny

Correct. Sandra Bem developed the concept of androgyny.
b) benevolent sexism

Incorrect. Sandra Bem developed the concept of androgyny.

c) social learning theory

d) ambiguity

ANS: a, p. 405, F, LO=10.3, (1) SG

% correct 43      a= 43  b= 29  c= 21  d= 7      r = .25
55. Researchers have found that when traditional males, traditional females, and androgynous people are compared in terms of the degree of depression, androgynous people are usually __________.

a) less depressed

Correct. Androgyny is related to less depression.

b) equally depressed

c) more depressed

Incorrect. Androgyny is related to less depression.
d) unfulfilled

ANS: a, p. 405, F, LO=10.3, (2) 

56. John lost his job as a steelworker. However, when seeking new employment, John considers a wide variety of jobs, such as fighter pilot, teacher, and nurse. Given these choices, a psychologist like Bem might consider John to be __________.

a) sexist

b) narcissistic

c) confused

Incorrect. John would be considered androgynous because he does not limit his choices to jobs that are stereotypically male.

d) androgynous

Correct. John would be considered androgynous because he does not limit his choices to jobs that are stereotypically male.

ANS: d, p. 405, A, LO=10.3, (2) 
Learning Objective 10.4 - How do men and women differ in thinking, social behavior, and personality?

57. Researchers have usually found that __________.

a) females score higher on tests of verbal ability than males

Correct. Researchers have usually found that females score higher on tests of verbal ability than males.

b) males score higher on tests of verbal ability than females

c) there is no difference between males and females on tests of verbal ability

d) verbal ability differences between males and females are due to differential watching of talk shows

Incorrect. Researchers have usually found that females score higher on tests of verbal ability than males.

ANS: a, p. 405, F, LO=10.4, (2) 

58. MRI technology has demonstrated that men listen with _________.

a) the right hemisphere of the brain

Incorrect. Males listen with the left hemisphere of the brain.

b) the left hemisphere of the brain

Correct. Males listen with the left hemisphere of the brain.

c) both hemispheres of the brain

d) There is no consistent pattern of listening.

ANS: b, p. 405-406, F, LO=10.4, (2) SG

59. MRI technology has demonstrated that women listen with _________ of the brain.

a) the right hemisphere

Incorrect. Females listen with both hemispheres of the brain.

b) the left hemisphere

c) both hemispheres

Correct. Females listen with both hemispheres of the brain.

d) There is no consistent pattern of listening.

ANS: c, p. 405-406, F, LO=10.4, (2) 

60. Women may pay more attention to tone and emotion of statements than men because they listen with ____________ of the brain.

a) the right hemisphere

Incorrect. Females listen with both hemispheres of the brain.
b) the left hemisphere

c) both hemispheres

Correct. Females listen with both hemispheres of the brain.

d) There is no consistent pattern of listening.

ANS: c, p. 405-406, F, LO=10.4, (2) 

% correct 43      a= 14  b= 29  c= 43  d= 14      r = .69

61. Which gender is more likely to talk to other members of that gender about current events?

a) males

Correct. Males are more likely to discuss current events because it is a less personal topic.

b) females

c) Both are equally likely to talk about current events.

Incorrect. Males are more likely to discuss current events because it is a less personal topic.

d) Nobody talks about current events.

ANS: a, p. 406, F, LO=10.4, (3) 

62. Research has shown that men tend to talk to each other about ___________.

a) private concerns

b) their feelings

Incorrect. Males are reluctant to discuss their feelings.

c) relationships

d) current events

Correct. Males are more likely to discuss current events than personal topics such as feelings and relationships.

ANS: d, p. 406, F, LO=10.4, (3) 

63. John is a stay-at-home dad. Today he is with a group of stay-at-home moms as they all watch their kids play. What topic of conversation would be LEAST successful for John to bring up in order to stimulate the discussion?

a) private concerns

Incorrect. Current events would be least successful, as women are less likely to talk about them than about private concerns.

b) feelings

c) relationships

d) current events

Correct. Current events would be least successful, as women are less likely to talk about them than about feelings or relationships.

ANS: d, p. 406, F, LO=10.4, (3) 
64. Recent studies have shown that cognitive differences between boys and girls _____________.

a) are increasing

b) are decreasing

Correct. The differences are decreasing.

c) are staying the same

Incorrect. The differences are decreasing.

d) have decreased then increased

ANS: b, p. 406, F, LO=10.4, (2)
65. If gender differences in cognition are decreasing, this is probably due to _______________.

a) a decrease in genetic diversity between males and females

Incorrect. There has been no decrease in genetic diversity between males and females. Equal treatment between genders is probably decreasing differences in cognition.

b) males becoming stupid over the years due to too much football

c) the effects of more equal treatment of men and women in our society

Correct. Equal treatment between genders is probably decreasing the differences in cognition.

d) none of these

ANS: c, p. 406, C, LO=10.4, (2) 

Human Sexual Behavior

Learning Objective 10.5 - What happens in the bodies of women and men during sexual intercourse?

66. At the time Masters and Johnson did their groundbreaking research on sexual responses, society mostly thought that ____________.

a) sexuality should be openly discussed

Incorrect. Society mostly thought that sexuality was a relatively forbidden topic.

b) premarital sex should be accepted and encouraged

c) older people would most benefit from this research

d) sexuality was a relatively forbidden topic

Correct. Society mostly thought that sexuality was a relatively forbidden topic.

ANS: d, p. 407, F, LO=10.5, (3) 
67. Equipment to measure physiological activity during sexual activity was designed by ____________.

a) Kinsey

Incorrect. Masters and Johnson designed equipment to measure physiological activity during sexual activity.

b) Freud

c) Skinner

d) Masters and Johnson

Correct. Masters and Johnson designed equipment to measure physiological activity during sexual activity.

ANS: d, p. 407, F, LO=10.5, (2) 

68. In which of the phases of sexual response does the genital area undergo a series of muscular contractions?

a) excitement

Incorrect. Orgasm involves a series of contractions.
b) plateau

c) orgasm

Correct. Orgasm involves a series of contractions.

d) resolution

ANS: c, p. 408, F, LO=10.5, (1) 

% correct 100      a= 0  b= 0  c= 100  d= 0      r = .00
69. The final phase of the sexual response is _______________.

a) excitement

b) plateau

c) orgasm

Incorrect. The final phase of the sexual response is resolution. 

d) resolution

Correct. The final phase of the sexual response is resolution.

ANS: d, p. 408, F, LO=10.5, (1) SG

70. The second phase of the sexual response is ____________.

a) excitement

b) plateau

Correct. The second phase of the sexual response is plateau.

c) orgasm

Incorrect. The second phase of the sexual response is plateau.

d) resolution

ANS: b, p. 408, F, LO=10.5, (1) 

71. The first phase of the sexual response is ____________.

a) excitement

Correct. The first phase of the sexual response is excitement.
b) plateau

c) orgasm

Incorrect. The first phase of the sexual response is excitement.

d) resolution

ANS: a, p. 408, F, LO=10.5, (1) 

% correct 100      a= 100  b= 0  c= 0  d= 0      r = .00
% correct 96      a= 96  b= 0  c= 0  d= 4      r = .19
72. Rashid has just had an orgasm. However, his partner is still excited and wants Rashid to continue his sexual activity. Unfortunately, Rashid has lost his erection. Rashid is probably now in the ________.

a) refractory period

Correct. He is now in the refractory period, during which men cannot achieve erection.

b) male menopause

c) disruptive period

d) plateau

Incorrect. He is now in the refractory period, during which men cannot achieve erection.

ANS: a, p. 408, A, LO=10.5, (3) 

% correct 96      a= 96  b= 0  c= 0  d= 4      r = .19
73. In which phase does the refractory period occur for men?

a) excitement

b) plateau

Incorrect. The refractory period occurs for men during the final stage of the sexual response called resolution.

c) orgasm

d) resolution

Correct. The refractory period occurs for men during the final stage of the sexual response called resolution.

ANS: d, p. 408, F, LO=10.5, (2) 

74. Which phase of the sexual response can last the longest?

a) excitement

Correct. Excitement can last up to several hours.

b) plateau

Incorrect. The plateau stage lasts no more than a few minutes, whereas excitement can last up to several hours.

c) orgasm

d) resolution

ANS: a, p. 408, F, LO=10.5, (1) 

75. Javier and his wife are preparing to have sex. His penis becomes erect and his testes “pull up.” He is likely to be in the __________________ stage of the sexual response cycle according to Masters and Johnson.

a) resolution

Incorrect. After sex is complete this would be a more appropriate answer.

b) plateau

c) orgasm

d) excitement

Correct. This would be true based on the example provided.

ANS: d, p. 408, A, LO=10.5 (1)

76. Steve’s penis is becoming even more erect and has secreted a few drops of fluid after beginning to have sex. He is likely to be in the __________________ stage of the sexual response cycle according to Masters and Johnson.

a) resolution

Incorrect. After sex is complete this would be a more appropriate answer.

b) plateau

Correct. This would be true based on the example provided.

c) orgasm
d) excitement

ANS: b, p. 408, A, LO=10.5 (2)

77. Dante’s penis has experienced contractions and is about to release seminal fluid. He is likely to be in the __________________ stage of the sexual response cycle according to Masters and Johnson.

a) resolution

Incorrect. After sex is complete this would be a more appropriate answer.

b) plateau

c) orgasm

Correct. This would be true based on the example provided.

d) excitement

ANS: c, p. 408, A, LO=10.5 (1)

78. Ben has finished having sex and has lost his erection and his scrotal sack has begun to thin again. He is likely to be in the __________________ stage of the sexual response cycle according to Masters and Johnson.

a) resolution

Correct. After sex is complete and his body returns to his unaroused state he would exhibit these symptoms.

b) plateau

c) orgasm

Incorrect. This would not be true based on the example provided.

d) excitement

ANS: a, p. 408, A, LO=10.5 (1)

79. Melvin has finished having sex approximately 30 minutes ago and his partner is interested in having sex again. However, Melvin is not able to achieve an erection. Melvin is in the ________________.

a) refractory period

Correct. This is the time where he is unable to achieve another erection.

b) stagnation period

c) seminal period

d) growth period

Incorrect. This is not a term used to describe this period.

ANS: a, p. 408, A, LO=10.5 (2)

80. Masters and Johnson reported that unlike men, women _______________________.

a) only achieve 1 orgasm in a 12 hr. period

Incorrect. Research does suggest that women do not have a refractory period.

b) do not have a refractory period and can achieve many orgasms during a sexual encounter

Correct. Masters and Johnson found this to be true as opposed to men who have a Refractory Period.

c) need more stimulation to achieve an orgasm with oral sex

d) have a longer refractory period than men

ANS: b, p. 408, F, LO=10.5 (3)

81. Which of the following was NOT one of the reasons that Masters and Johnson’s research was considered controversial?

a) They used prostitutes as participants.

b) People feared the discussion of sex would undermine family and society.

Incorrect. People did fear the discussion of sex would undermine family and society.

c) They participated in sexual activity with their subjects.

Correct. They observed their subjects but did not participate.

d) They were observing people engaging in sexual activity.

ANS: c, p. 409-410, F, LO=10.5, (3) 

% correct 70      a= 4  b= 22  c= 70  d= 4      r = .19
82. One seemingly amazing aspect of Masters and Johnson’s research program concerning human sexual response was __________.

a) their ability to get senior citizens to volunteer as subjects in the first studies

b) that the study was funded by churches open to discovering ways to prevent masturbation

Incorrect. Masters and Johnson’s research was not funded by churches.

c) that they were able to convince the newspapers to keep the research secret for a long period of time

Correct. Masters and Johnson were able to convince the newspapers to keep the research secret. 

d) none of these

ANS: c, p. 409-410, C, LO=10.5, (3) SG

83. Masters and Johnson’s original subjects in the study of human sexual response were ___________.

a) prostitutes

Correct. Masters and Johnson’s original subjects in the study of human sexual response were prostitutes.

b) church elders and parishioners

c) prisoners in the local jails

d) volunteers from introductory psychology classes

Incorrect. Masters and Johnson’s original subjects in the study of human sexual response were prostitutes.

ANS: a, p. 409-410, F, LO=10.5, (2) 
Learning Objective 10.6 - What did the early and most recent surveys of human sexual behavior reveal?

84. Kinsey believed that ________.

a) sexual orientation was an either/or situation

Incorrect. Kinsey believed that sexual orientation was not an either/or situation but rather that it was on a continuum.

b) sexual orientation was on a continuum

Correct. Kinsey believed that sexual orientation was on a continuum.

c) sexual orientation was too sensitive to be studied

d) premarital sex was fundamentally destructive to society

ANS: b, p. 411, F, LO=10.6, (2) 
% correct 78      a= 12  b= 78  c= 11  d= 0      r = .42
85. Which is NOT one of the usual criticisms of Kinsey’s methodologies?

a) Most of the volunteers were homosexual. 

Correct. Kinsey’s critics did not claim that most of the volunteers were homosexual.

b) The sample was not broad enough to cover all types of people.

c) Kinsey focused more on rarer types of sexual activity.

d) Sexual activity shouldn’t be studied as it is perverse.

Incorrect. Some of Kinsey’s critics did claim that it was perverse to study sexual activity.

ANS: a, p. 411-412, C, LO=10.6, (3) 

% correct 61      a= 61  b= 18  c= 7  d= 14      r = .28
86. According to Kinsey, what percentage of husbands reported anal sex with their wives?

a) 11 percent

Correct. According to Kinsey, 11 percent of husbands reported anal sex with their wives. 

b) 14 percent

c) 92 percent

Incorrect. According to Kinsey, 11 percent of husbands reported anal sex with their wives.
d) 26 percent

ANS: a, p. 412, F, LO=10.6, (3) SG

87. According to Kinsey, what percentage of women reported bisexual experiences?

a) 11 percent

b) 14 percent

Correct. According to Kinsey, 14 percent of women reported bisexual experiences.

c) 92 percent

Incorrect. According to Kinsey, 14 percent of women reported bisexual experiences.

d) 26 percent

ANS: b, p. 412, F, LO= 10.6, (3)

88. According to Kinsey, what percentage of males reported masturbating?

a) 11 percent

Incorrect. According to Kinsey, 92 percent of males reported masturbating.

b) 14 percent

c) 92 percent

Correct. According to Kinsey, 92 percent of males reported masturbating.

d) 26 percent

ANS: c, p. 412, F, LO=10.6, (3)

% correct 71      a= 4  b= 0  c= 71  d= 25      r = .22
89. According to Kinsey, what percentage of females reported extramarital sexual experiences?

a) 11 percent

Incorrect. According to Kinsey, 26 percent of females reported extramarital sexual experiences.

b) 14 percent

c) 92 percent

d) 26 percent

Correct. According to Kinsey, 26 percent of females reported extramarital sexual experiences.

ANS: d, p. 412, F, LO=10.6, (2)
90. According to Kinsey’s sexual behavior study, approximately _______ percent of men and ______ percent of women had has sexual intercourse by the age of 16.

a)  63 percent; 48 percent

Incorrect. According to Kinsey, 21 percent of men and 6 percent of women have had sexual intercourse by age 16.

b) 42 percent; 27 percent

c) 21 percent; 6 percent

Correct. According to Kinsey, 21 percent of men and 6 percent of women have had sexual intercourse by age 16.

d) 99 percent; 99 percent

ANS: c, p. 412, F, LO=10.6, (3)

91. The first large-scale study of human behavior to be done after the Kinsey and Masters and Johnson reports was conducted by _________.

a) Janus and Janus

Correct. The Januses did the first major study after Kinsey.

b) Hite and Rose

c) Hilton and Paris

Incorrect. The Januses did the first major study after Kinsey.

d) Erickson and Schlomo

ANS: a, p. 413, F, LO=10.6, (2) SG

% correct 78      a= 78  b= 0  c= 19  d= 4      r = .30
92. According to the Janus Report, approximately what percentage of males reported extramarital affairs?

a) 70 percent

b) 40 percent

Correct. According to the Janus Report, about 40 percent of males reported extramarital affairs.

c) 5 percent

d) 99 percent

Incorrect. According to the Janus Report, about 40 percent of males reported extramarital affairs.

ANS: b, p. 413, F, LO=10.6, (3)
93. According to the Janus Report, what percentage of females reported premarital sex?

a) 40 percent

b) 46 percent

Correct. According to the Janus Report, 46 percent of females reported premarital sex.

c) 5 percent

d) 99 percent

Incorrect. According to the Janus Report, 46 percent of females reported premarital sex.

ANS: b, p. 413, F, LO= 10.6, (3)

94. According to the Janus Report, what is the percentage of women who were predominantly homosexual?

a) 20 percent

Incorrect. According to the Janus Report, 5 percent of women were predominantly homosexual.

b) 46 percent

c) 5 percent

Correct. According to the Janus Report, 5 percent of women were predominantly homosexual.

d) 99 percent

ANS: c, p. 413, F, LO=10.6, (3)

95. The Janus Report surveyed ____________.

a) people from 48 states

Incorrect. All of the choices are correct.
b) 3,000 people

c) people aged 18 to 65

d) All of the choices are correct.

Correct. All of the above are true.

ANS: d, p. 413, F, LO=10.6, (3)

96. Age has been shown not to be a factor in a person’s desire to have sex. Which is NOT an accurate statement about sex in later life?

a) Many people have more sex between the ages of 70 and 80 than in younger years.

Correct. Research did not support this statement.

b) Many people are sexually active well into their eighties.

c) A common barrier to sex is lack of a partner.

d) Physical issues could impact sex in later life.

Incorrect. This was reported to be an accurate statement according to research.

ANS: a, p. 413, F, LO=10.6, (3)

97. Robert has been charged with exposing himself while picking up food at a local drive-through restaurant several times. Due to going against cultural and socially accepted norms, his behavior is consistent __________.

a) heterosexuality

Incorrect. Heterosexuals could engage in this behavior, but it is not the most accurate description of Robert.

b) homosexuality

c) sexual deviance

Correct. Robert fits this criteria by going against societal norms of what is appropriate sexual behavior.

d) sexual exposurist

ANS: c, p. 413, A, LO=10.6, (1) 

98. According to the Janus report, approximately _______ percent of men and _______ percent of women reported to be predominantly homosexual.

a) 10 percent; 20 percent

Incorrect. According to the Janus Report,9 percent of men and  5 percent of women were predominantly homosexual.

b) 36 percent; 46 percent

c) 9 percent; 5 percent

Correct. According to the Janus Report, 9 percent of men and 5 percent of women were predominantly homosexual.

d) 99 percent; 99 percent

ANS: c, p. 413, F, LO=10.6, (3)

Learning Objective 10.7 - How do different sexual orientations develop?

99. Which is the most socially acceptable form of sexual behavior in most cultures?

a) bisexuality

Incorrect. Heterosexuality is the most acceptable form of sexual behavior in most cultures.

b) homosexuality

c) heterosexuality

Correct. Heterosexuality is the most acceptable form of sexual behavior in most cultures.

d) All of these three forms are equally acceptable in most cultures.

ANS: c, p. 414, F, LO=10.7, (1) 

% correct 100      a= 0  b= 0  c= 100  d= 0      r = .00
100. Most recent surveys indicate that __________ of men and __________ of women have had at least one homosexual experience.

a) 9 percent; 5 percent

b) 22 percent; 17 percent

Correct. Most recent surveys indicate that 22 percent of men and 17 percent of women have had at least one homosexual experience.

c) 50 percent; 50 percent

Incorrect. Most recent surveys indicate that 22 percent of men and 17 percent of women have had at least one homosexual experience.

d) 90 percent; 10 percent

ANS: b, p. 414, F, LO=10.7, (3) 

101. Most recent surveys indicate that _________ of men are predominantly homosexual.

a) 9 percent

Correct. Most recent surveys indicate that 9 percent of men are predominantly homosexual.

b) 22 percent 

Incorrect. Most recent surveys indicate that 9 percent of men are predominantly homosexual.

c) 50 percent

d) 90 percent

ANS: a, p. 414, F, LO=10.7, (3) 

102. Many surveys have attempted to determine the number of people who consider themselves to be homosexual and/or the number of people who have had some homosexual experience. It is difficult to arrive at solid figures. The most likely reason is that ____________.

a) many people repress their homosexual experiences and cannot remember them

b) so few people are homosexual that the numbers do not reach the appropriate level for statistical significance

Incorrect. People are reluctant to be truthful because of social reasons.

c) people are reluctant to state that they had homosexual experiences or tendencies due to societal attitudes and discrimination

Correct. People are reluctant to be truthful because of social reasons.

d) All of these are true.

ANS: c, p. 414, C, LO=10.7, (2) 

103. Research has shown that heterosexuality is generally accepted across all cultures. Research also suggests that ____________________.

a) various cultures do not accept homosexuality and bisexuality

Incorrect. While this is a true statement, “d” is the most correct answer.

b) homosexuals and bisexuals often face prejudice and discrimination.

c) attitudes in cultures that have been biased against homosexuals and bisexuals are starting to slowly change to be more positive and accepting.

d) all of the above are true.

Correct. Research has proven all of these to be true.

ANS: d, p. 414, F, LO=10.7, (2)

104. Channel is a 43 year old female who has been in sexual relationships with both men and women in the past. She is presently dating a 32 year old female and is thinking of moving to a state which legally recognizes the marriage between two women. She is thinking of getting married to her partner, despite still admitting that she finds both men and women attractive. Channel is considered _____________ in terms of her sexual orientation.

a) homosexual

Incorrect. She wants to marry another woman, but is also still attracted to men.

b) heterosexual

c) bisexual

Correct. She is attracted to both men and women.

d) transexual

ANS: c, p. 414, A, LO=10.7 (2)

105. Raphael has only dated men in the past. He stated that in high school, he began to notice that he was only attracted to men. As a result, he has been in a relationship with a man for the past 5 years and is very happy. Raphael is considered _______________ in terms of his sexual orientation.

a) homosexual

Correct. He is attracted to the same sex.

b) heterosexual

c) bisexual

Incorrect. He is not attracted to both men and women.

d) transexual

ANS: a, p. 414, A, LO=10.7 (1)

106. Lance is in the 12th grade and is presently dating the head cheerleader named Ava. Lance is attracted to Ava, who is very feminine in her mannerisms, and Lance reports that he is attracted to girls who are petite and athletic. He and his buddies like to go “cruising for girls” on the weekends but he has never strayed from Ava and is thinking about proposing to her after they graduate. He has never been attracted to any other boys. Lance is considered ________________ in terms of his sexual orientation.

a) homosexual

Incorrect. He is not attracted to the same sex.

b) heterosexual

Correct. He is attracted to Ava and has never been attracted to men.

c) bisexual

d) transexual

ANS: b, p. 414, A, LO=10.7 (1)

107. If homosexuality were definitively found to be due to genetic or hormonal influences, then _______.

a) discrimination against homosexuals would be equivalent to racism or sexism

Incorrect. If homosexuality were definitively found to be due to genetic or hormonal influences, then all of the statements would be true.

b) it would no longer be seen as a matter of simple choice

c) society could no longer demand that homosexuals change their behavior

d) All of these are true.

Correct. If homosexuality were definitively found to be due to genetic or hormonal influences, then it would no longer be seen as a matter of simple choice, society could no longer demand that homosexuals change their behavior, and discrimination against homosexuals would be equivalent to racism.

ANS: d, p. 414-415, C, LO=10.7, (2) SG

% correct 86      a= 0  b= 14  c= 0  d= 86      r = .23
108. Severe stress experienced by a pregnant woman during the ________ trimester might increase the chance of a male child becoming homosexual.

a) first

Incorrect. Stress during the second trimester might be related to an increased chance of homosexuality.

b) second

Correct. Stress during the second trimester might be related to an increased chance of homosexuality.

c) third

d) any

ANS: b, p. 415, F, LO=10.7, (3) 

109. According to research, the majority of gay or bisexual college students report they first became aware of their sexual orientation in __________________.

a) high school

Correct. 46% of females and 50% of males reported that they knew of their sexual orientation in high school

b) middle school
Incorrect. High school was identified as the most reported time in this study in which individuals became aware of their sexual orientation.

c) elementary school

d) before entering school

ANS: a, p. 415, F, LO=10.7, (1) 
110. LeVay discovered that an area of the __________________ is three times larger in males than females, and two to three times larger in heterosexual males as compared to homosexual males in his controversial research study.

a) cerebellum

b) hypothalamus

Correct. This was the part of the brain that was found to be larger in males than females.

c) pons

d) hippocampus

Incorrect. This was not identified in his research.

ANS: b, p. 415, F, LO=10.7, (3)

111. The work of Simon LeVay on the brain structures of homosexual humans led to similar findings with _________.

a) monkeys

Incorrect. The work of Simon LeVay on the brain structures of homosexual humans led to similar findings with sheep.

b) dolphins

c) sheep

Correct. The work of Simon LeVay on the brain structures of homosexual humans led to similar findings with sheep.

d) cows

ANS: c, p. 415-416, C, LO=10.7, (3) 

112. Which is NOT a finding that supports a biological contribution to sexual orientation?

a) the work of Simon LeVay

Incorrect. LeVay’s work showed a difference in the hypothalamuses of homosexual and heterosexual men.

b) twin studies

c) loci on the X chromosome common in homosexual brothers

d) size differences in the right brain hemispheres in homosexuals as compared to heterosexuals

Correct. Size differences in the right brain hemispheres in homosexuals as compared to heterosexuals have not been reported.

ANS: d, p. 415-416, C, LO=10.7, (3)

113. What have twin studies told us about sexual orientation?

a) They are clear in supporting that sexual orientation is influenced only by genetic factors.

Incorrect. Twin studies support both genetic and environmental factors in sexual orientation.

b) They clearly do not support the idea that sexual orientation is influenced by genetics.

c) Although supporting a genetic influence on sexual orientation, they do not rule out environmental influences as a contributor.

Correct. Twin studies support both genetic and environmental factors in sexual orientation.

d) Twin studies have not been done in the matter of sexual orientation.

ANS: c, p. 416, C, LO=10.7, (3)
% correct 70      a= 18  b= 0  c= 70  d= 4      r = .27
114. Hamer and colleagues discovered that homosexuality may be transmitted by genes on the _____ chromosome which is passed from mother to son, not father to son.

a) X

Correct. This is the correct chromosome.

b) Y

Incorrect. This was not shown in the research.

c) XX

d) YY

ANS: a, p. 416, F, LO=10.7, (3)

Sexual Dysfunctions and Problems

Learning Objective 10.8 - How do physical and psychological sexual problems differ?

115. A sexual ___________ is a problem with sexual functioning, or the actual physical workings of the sex act.

a) dysfunction

Correct. A sexual dysfunction is a problem with the actual physical workings of the sex act.

b) malapropism
Incorrect. Malapropism is a term referring to the misuse of words and is not a sexual dysfunction.

c) deviation

d) shortcoming

ANS: a, p. 417, F, LO=10.8, (1) 
116. Research shows that the ___________married couples are, the less interest and pleasure they take in sexual activity, and the more they experience guilt, shame, and sexual inhibitions.

a) more conservative and traditional

Correct. Research shows that the more conservative and traditional married couples are, the less interest and pleasure they take in sexual activity, and the more they experience guilt, shame, and sexual inhibitions.

b) less conservative and traditional

Incorrect. Research shows that the more conservative and traditional married couples are, the less interest and pleasure they take in sexual activity, and the more they experience guilt, shame, and sexual inhibitions.

c) more affluent

d) poorer

ANS: a, p. 418, F, LO=10.8, (2) 

117. Sexual problems that result from physical causes are referred to as _________.

a) stress dysfunctions

Incorrect. Stress dysfunctions are psychological, not physical.

b) organic dysfunctions

Correct. Sexual problems that result from physical causes are referred to as organic dysfunctions.

c) hormonal deficit dysfunctions

d) cellular erectile difficulties

ANS: b, p. 418, C, LO=10.8, (1) 

118. Sexual problems that result from psychological causes are referred to as _________.

a) stress dysfunctions

Correct. Sexual problems that result from psychological causes are referred to as stress dysfunctions.

b) organic dysfunctions

Incorrect. Organic dysfunctions have physical, not psychological, causes.

c) GOPs (gonad operative problems)

d) cortical erectile difficulties

ANS: a, p. 418, C, LO=10.8, (1) 

119. What percentage of men and women report some sort of sexual dysfunction?

a) 10–20 percent

b) 20–30 percent

Incorrect. The percentage of men and women reporting some sort of sexual dysfunction is 30–40 percent.

c) 30–40 percent

Correct. The percentage of men and women reporting some sort of sexual dysfunction is 30–40 percent.

d) 90–100 percent

ANS: c, p. 418, F, LO=10.8, (3) 

% correct 29      a= 36  b= 36  c= 29  d= 0      r = .18
120. Masters and Johnson recommended a technique called __________ for treatment of premature ejaculation.

a) cognitive genital therapy

Incorrect. There is no such term as cognitive genital therapy. Masters and Johnson recommended sensate focus for treatment of premature ejaculation.

b) general orgasmic psychotherapy

c) sensate focus

Correct. Masters and Johnson recommended sensate focus for treatment of premature ejaculation.

d) erectile massage therapy

ANS: c, p. 418-419, F, LO=10.8, (2) 

121. Jaime enjoys sexual activity with his partner. However, he cannot reach an orgasm during sexual intercourse even though fully aroused. Jaime is suffering from __________.

a) male erectile disorder

Incorrect. Jaime is suffering from male orgasmic disorder.

b) male orgasmic disorder

Correct. Jaime does get fully aroused, which means he does have erections and is, therefore, not suffering from an erectile disorder.

c) dyspareunia

d) premature ejaculation

ANS: b, p. 419, A, LO=10.8, (3) SG

122. Shanice suffers pain during intercourse. She is suffering from __________.

a) sexual aversion disorder

b) female orgasmic disorder

c) malapropism

Incorrect. Malapropism is a term referring to the misuse of words and is not a sexual dysfunction.

d) dyspareunia

Correct. She is suffering from dyspareunia, the symptoms of which are pain in the genitals before, during, or after intercourse.

ANS: d, p. 419, A, LO=10.8, (2) 

123. _____________ is a disorder in which the person either prefers to, or must, achieve sexual arousal and fulfillment through sexual behavior that is unusual or not socially acceptable.

a) Traditional value erectile dysfunction

Incorrect. There is no such condition as traditional value erectile dysfunction. 

b) Deviant sexual disorder

c) Sensate psychosis

d) Paraphilia

Correct. A paraphilia is a disorder in which a person either prefers to, or must, achieve sexual arousal and fulfillment through sexual behavior that is unusual or not socially acceptable.

ANS: d, p. 419, F, LO=10.8, (2) 

124. Someone whose focus of sexual interest is an object, such as shoes or underwear, or a part of the body, such as feet, has a condition known as _______. 

a) fetishism

Correct. Someone whose focus of sexual interest is an object or a part of the body has a condition known as fetishism.

b) exhibitionism

c) voyeurism

d) frotteurism

Incorrect. Frotteurism is the practice of obtaining sexual arousal or gratification by rubbing against an unwilling person.

ANS: a, p. 419, F, LO=10.8, (2) 

% correct 89      a= 89  b= 7  c= 4  d= 0      r = .34
125. Someone who likes to expose normally clothed parts of the body to unsuspecting and typically unwilling viewers has a condition known as _______.

a) fetishism

b) exhibitionism

Correct. Someone who likes to expose normally clothed parts of the body to unsuspecting and typically unwilling viewers has a condition known as exhibitionism.

c) voyeurism

d) frotteurism

Incorrect. Frotteurism is the practice of obtaining sexual arousal or gratification by rubbing against an unwilling person.

ANS: b, p. 419, F, LO=10.8, (2) 

% correct 89      a= 0  b= 89  c= 11  d= 0      r = .20
126. Obtaining sexual arousal and gratification through watching other people engage in sexual behavior or undress is known as _______.

a) voyeurism

Correct. Obtaining sexual arousal and gratification through watching other people engage in sexual behavior or undress is known as voyeurism.

b) frotteurism

Incorrect. Frotteurism is the practice of obtaining sexual arousal or gratification by rubbing against an unwilling person.

c) necrophilia

d) transvestism

ANS: a, p. 419, F, LO=10.8, (2) 

127. Aaliyah became sexually aroused or gratified through rubbing up against an unwilling person, usually in a crowded public place. He has a condition known as ____________.

a) voyeurism

Incorrect. The condition is known as frotteurism.

b) frotteurism

Correct. Frotteurism is the practice of obtaining sexual arousal or gratification by rubbing against an unwilling person.

c) necrophilia

d) transvestism

ANS: b, p. 419, A, LO=10.8, (2) SG

128. James obtained sexual arousal and pleasure by wearing women’s clothing. He has a condition known as ______________.

a) voyeurism

b) frotteurism

Incorrect. Frotteurism is the practice of obtaining sexual arousal or gratification by rubbing against an unwilling person.

c) necrophilia

d) transvestism

Correct. Transvestism is a kind of fetishism in which sexual arousal and pleasure come from wearing the clothing of the opposite sex.

ANS: d, p. 419, A, LO=10.8, (2) 

129. Keisha is preparing to go swimming at the city pool. She is putting on her swim suit in a dressing room provided by the park, and notices that someone is looking over the dressing room walls. She grabs her towel and quickly runs from the dressing room and sees a man running away. After police are called, she is informed that she is the 4th victim of this “peeping Tom” over the past week. The “peeping Tom” is likely to suffer from ____________.

a) voyeurism

Correct. The man is likely to be receiving sexual gratification by peeping.

b) frotteurism

Incorrect. Frotteurism is the practice of obtaining sexual arousal or gratification by rubbing against an unwilling person.

c) necrophilia

d) exhibitionism

ANS: a p. 419, A, LO=10.8, (2) 

130. Sydney was leaving with friends after a fun night out drinking. As she was walking to her car, a man wearing a brown trench coat approached. He opened his coat and was completely naked underneath which startled Sydney, shocked at his behavior. Sydney was “flashed” by a person who likely achieves sexual arousal through ________.

a) voyeurism

b) frotteurism

Incorrect. Frotteurism is the practice of obtaining sexual arousal or gratification by rubbing against an unwilling person.

c) necrophilia

d) exhibitionism

Correct. The man exposed normally clothed parts of his body which is part of the criteria for this disorder.

ANS: d, p. 419, A, LO=10.8, (2) 

131. Lammont admits that he has a “thing” for women’s toes. When looking for a girlfriend, he often immediately looks at the woman’s toes to see if they are manicured and painted. He admits that he also becomes sexually aroused when sucking on his girlfriend’s toes. He admits that he has trouble becoming aroused unless he is able to touch, suck, or view his girlfriend’s toes.  Lammont is likely to fit the criteria for having a ​​​​​​​​​​​​__________.

a) transvestism

b) frotteurism

Incorrect. Frotteurism is the practice of obtaining sexual arousal or gratification by rubbing against an unwilling person.

c) necrophilia

d) fetishism

Correct. Lammont is likely to fit the criteria for fetishism due to focusing on toes in getting sexual gratification.

ANS: d, p. 419-420, A, LO=10.8, (2) 

Sexually Transmitted Diseases

Learning Objective 10.9 - What are sexually transmitted diseases, and what can be done to prevent the spread of these disorders?

132. The abbreviation STD stands for _____________.

a) standard transmission of disease

b) sinful transmission of disease

c) socially transmitted disease

Incorrect. STD stands for sexually transmitted disease.

d) sexually transmitted disease

Correct. STD stands for sexually transmitted disease

ANS: d, p. 420, F, LO=10.9, (2) 

133. Which cause of a sexually transmitted disease is hardest to treat?

a) bacterial

Incorrect. Bacterial infections are easily treatable with antibiotics.

b) fungal

c) viral

Correct. Viral diseases are hardest to treat.

d) All are equally difficult to treat.

ANS: c, p. 420-421, F, LO=10.9, (2) SG

134. Warty growths on the genitalia are caused by _____________.

a) human papillomavirus (HPV)

Correct. Warty growths on the genitalia are caused by HPV. 

b) bacterial infections

c) yeast infections

d) herpes simplex virus

Incorrect. Warty growths on the genitalia are caused by HPV.

ANS: a, p. 421, F, LO=10.9, (2) 

% correct 50      a= 50  b= 11  c= 39  d= 1      r = .50
135. A foul-smelling, cloudy discharge from the penis and burning upon urination are symptomatic of __________________.

a) AIDS

b) syphilis

c) gonorrhea

Correct. Gonorrhea can produce a foul-smelling, cloudy discharge from the penis and burning upon urination.
d) genital herpes

Incorrect. Genital herpes produces sores on the genitals preceded by itching, burning, and throbbing where the sores are about to appear.

ANS: c, p. 421, F, LO=10.9, (2)
136. Which of the following is caused by a virus?

a) AIDS

Correct. AIDS is caused by a virus.

b) yphilis

Incorrect. Syphilis is caused by bacteria.

c) gonorrhea

d) chlamydia

ANS: a, p. 421, F, LO=10.9, (2) 

137. Which of the following is caused by a virus?

a) genital warts

Correct. Genital warts are caused by a virus.

b) syphilis

Incorrect. Syphilis is caused by bacteria.

c) gonorrhea

d) chlamydia

ANS: a, p. 421, F, LO=10.9, (2)

138. AIDS can be transmitted through ________________.

a) blood, vaginal fluid, semen, and breast milk

Correct. AIDS can be transmitted through blood, vaginal fluid, semen, and breast milk.

b) blood only

Incorrect. AIDS can be transmitted through blood, vaginal fluid, semen, and breast milk.

c) tears

d) shaking of hands

ANS: a, p. 422, F, LO=10.9, (2)
139. AIDS CANNOT be transmitted through ___________.

a) blood

b) vaginal fluid

Incorrect. AIDS can be transmitted through vaginal fluid.

c) tears

Correct. AIDS cannot be transmitted through tears.

d) breast milk

ANS: c, p. 422, F, LO=10.9, (2) 

140. The first symptoms of AIDS are often mistaken for _________.

a) the flu

Correct. The first symptoms of AIDS are often mistaken for the flu.

b) cancer

Incorrect. The first symptoms of AIDS are often mistaken for the flu.

c) sea sickness

d) depression

ANS: a, p. 423, F, LO=10.9, (2) 
141. According to the Center for Disease Control in the United States, approximately what percent of individuals age 18-49 years know they are infected with HIV?

a) 30

Incorrect. Half of 1% is the correct answer.

b) 16

c) 8

d) 1

Correct. Half of 1% is the correct answer of those who know they are infected and fall into this age range.

ANS: d, p. 423, F, LO=10.9, (1) 

142. Living with AIDS is psychologically stressful. According to research, which is NOT a common worry for those who are infected?

a) Finding research studies to participate in to have the chance to recover from the virus.

Correct. This was not discussed in the book. At this present time, there is no cure for AIDS.

b) How they can have a relationship yet protect their partner.

c) Wondering about how long they have been infected.

d) When the disease will become full-blown AIDS.

Incorrect. This is a common worry by those with AIDS per research.

ANS: a, p. 423, F, LO=10.9, (2) 

143. Those with AIDS are likely to suffer from all of the following opportunistic infections EXCEPT _____________________.

a) Mononucleosis

Correct. This was not discussed in the book and has not been shown to be an opportunistic infection in the research.

b) pneumocystic pneumonia

c) Kaposi’s sarcoma

d) candida

Incorrect. This is an opportunistic infection listed.

ANS: a, p. 423, F, LO=10.9, (3) 

Applying Psychology to Everyday Life: How to Protect Yourself from Sexually Transmitted Diseases

144. Mia is 15 years old and at a stage in her life where she is considering having sex for the first time. She comes to meet with you since you are a school nurse and she wants to find out how to protect herself from pregnancy and disease. What advice would you want to give her based on research?

a) Having sex in a swimming pool is a way to prevent pregnancy.

b) You are less likely to contract a sexually transmitted disease if you have sex while menstruating.

c) Risks for contracting STDs are reduced if you use condoms and have monogamous sex with an uninfected partner.

Correct. Research suggests that this is an option that might be helpful in reducing risks.

d) It is ok to have unprotected sex with boys who say they are virgins because they are unlikely to have STDs.

Incorrect. It is possible that the boys are not honest about their virginity and protection should be used as a result.

ANS: c, p. 424-425, A, LO=10.9 (2)

145. Shallice has had several sexual partners in the past year. What is the BEST advice you could give her about how she can lower the odds of contracting a sexually transmitted disease in the future?

a) Use condoms.

Incorrect. Abstinence is the best advice. The others are good but abstinence is best.

b) Learn the symptoms of the common sexually transmitted diseases.

c) Practice abstinence.

Correct. Abstinence is the best advice. The others are good but abstinence is best.

d) All of these are good advice.

ANS: c, p. 424-425, A, LO=10.9, (3) SG

146. Which method has the highest level of protection against sexually transmitted diseases?

a) condoms

Incorrect. Abstinence has the highest level of protection against sexually transmitted diseases.
b) trusting your partner to be truthful and faithful

c) washing or douching after sexual relationships

d) abstinence

Correct. Abstinence has the highest level of protection against sexually transmitted diseases.

ANS: d, p. 425, F, LO=10.9, (2) 

147. Having more than one partner _________.

a) increases your chance of contracting a sexually transmitted disease

Correct. Having more partners increases the chance of contracting a sexually transmitted disease.

b) decreases your chance of contracting a sexually transmitted disease

c) has no effect on your chance of contracting a sexually transmitted disease

d) increases or decreases your chance of contracting a sexually transmitted disease based on your sexual orientation

Incorrect. Having more partners increases the chance of contracting a sexually transmitted disease regardless of your sexual orientation.

ANS: a, p. 425, C, LO=10.9, (2) 

TRUE OR FALSE

148. Primary sex characteristics are present at birth.

ANS: T, p. 396, LO=10.1  

149. The growth of facial hair is a secondary sex characteristic.

ANS: T, p. 396-398, LO=10.1  

150. A person with both male and female sex organs is called a transvestite.

ANS: F, p. 398, LO=10.1 
151. A person with both male and female sex organs is called a hermaphrodite.

ANS: T, p. 398, LO=10.1 

152. A transvestite is a person who has his or her gender surgically reassigned.

ANS: F, p. 398-399, LO=10.2 
153. Developing one’s sense of being male or female is called the gender role.

ANS: F, p. 399, LO=10.2 
154. When men and women view erotic pictures, the amygdala and hypothalamus were more strongly activated in men than women.

ANS: T, p. 401, LO=10.2 
155. Studies show that fathers are more concerned with gender-appropriate behavior for their sons than their daughters.

ANS: T, p. 401, LO=10.2  

156. Countries such as the Netherlands, Germany, Italy, and England are more likely to have nontraditional views of gender.

ANS: T, p. 401-402, LO=10.2 
157. When children observe their same-sex parents behaving in certain ways and imitate that behavior, a psychologist is most likely to use Freudian psychoanalysis to explain their behavior.

ANS: F, p. 403-404, LO=10.3  

158. Females are stereotypically considered to be emotional.

ANS: T, p. 404, LO=10.3 
159. A gender stereotype is the term to describe the acceptance of positive stereotypes of males and females which leads to unequal treatment.

ANS: F, p. 404-405, LO=10.3

Rationale: The correct term would be benevolent sexism.

160. A man who is sensitive and nurturing as well as logical and assertive might be described as androgynous.

ANS: T, p. 405, LO=10.3 

161. MRI technology has demonstrated that men listen with the right hemisphere of the brain.

ANS: T, p. 405-406, LO=10.4 
162. Being concerned with how society affects their lives, women are more likely to talk about current events than men.

ANS: F, p. 406, LO=10.4 

163. Research suggests that boys are taught to “hold their emotions” and girls are encouraged to form emotional attachments and express emotionality.

ANS: T, p. 406, LO=10.4

164. Masters and Johnson defined the four stages of the sexual response cycle as: excitement, plateau, orgasm, and resolution.

ANS: T, p. 408, LO=10.5

165. The final phase of the sexual response is called resolution.
ANS: T, p. 408, LO=10.5 
166. The first phase of the sexual response is called excitement.

ANS: T, p. 408, LO=10.5 
167. Equipment to measure physiological activity during sexual activity was designed by Masters and Kinsey.

ANS: F, p. 409, LO=10.5 
168. Kinsey was a clinical psychologist.

ANS: F, p. 411, LO=10.6 
169. Kinsey discovered, to everyone’s surprise, that only about 15 percent of people masturbated. 

ANS: F, p. 412, LO=10.6 

170. The first large-scale study of human behavior to be done after the Kinsey and Masters and Johnson reports was conducted by Janus and Janus.

ANS: T, p. 413, LO=10.6 
171. Research suggests that many individuals continue to be sexually active well into their eighties. Barriers to sex at an older age include health problems and lack of a partner as opposed to lack of desire.

ANS: T, p. 413, LO=10.6

172. Sexual orientation refers to a concept about males or females that assigns characteristics to them on the basis of nothing more than their being male or female.

ANS: F, p. 414, LO=10.6 
173. Heterosexuality is accepted across different cultures. Homosexuals and bisexuals often face prejudice, discrimination, and harassment.

ANS: T, p. 414, LO=10.7

174. Conclusive research has not been found to determine whether or not homosexuality is a product of nature or nurture.

ANS: T, p. 414-416, LO=10.7

175. LeVay found evidence that homosexual males’ brains show no differences in structure as compared to the brains of heterosexual males.

ANS: F, p. 415-416, LO=10.7  

176. Twin studies suggest a genetic component to sexual orientation.

ANS: T, p. 416, LO=10.7 
177. Research shows that the more conservative and traditional married couples are, the less interest and pleasure they take in sexual activity and the more they experience guilt, shame, and sexual inhibitions.

ANS: T, p. 418, LO=10.8  

178. According to research, less than 20% of women and men report having some sort of sexual dysfunction.

ANS: F, p. 418, LO=10.8

Rationale: Approximately 43% of women and 31% of men report some sort of sexual dysfunction.

179. Jaime enjoys sexual activity with his partner. However, he cannot reach an orgasm even though fully aroused. Jaime is suffering from premature ejaculation.

ANS: F, p. 419, LO=10.8  

180. Tyler has a tendency to walk around his house with no clothes on and linger around his open windows that face the street. When the police arrest him, they charge him with frotteurism.

ANS: F, p. 419, LO=10.8  

181. Research has demonstrated that most transvestites are exclusively homosexual in sexual orientation.

ANS: F, p. 420, LO=10.8 

182. Genital warts are caused by a virus.

ANS: T, p. 421, LO=10.9 

183. Phyllis goes out on a date and kisses a young man. Later, she finds out that he has AIDS. She fears that she might get the disease. However, there is no scientific, documented proof of AIDS being passed to another through saliva.

ANS: T, p. 422, LO=10.9 

184. Studies have shown that in some instances, women with HIV/AIDS have infected their children with the virus when pre-chewing food and sharing it with them.

ANS: T, p. 422, LO=10.9

185. Antiretroviral drugs are often used to slow down the HIV/AIDS virus.

ANS: T, p. 423, LO=10.9

186. The Center for Disease Control reports that approximately 5% of individuals between the ages of 18-49 know that they are infected with HIV/AIDS.

ANS: F, p. 423, LO=10.9

Rationale: Half of 1% is the correct answer.

187. Abstinence has the highest level of protection against sexually transmitted diseases.

ANS: T, p. 425, LO=10.9  

SHORT ANSWER

188. Name two primary sex characteristics in males.

p. 396, LO=10.1

189. Name at least two primary and secondary sex characteristics in males.

p. 396-398 LO=10.1

Rationale: Primary are present at birth such as a penis and secondary develop during puberty such as chest hair.

190. Name at least two primary and secondary sex characteristics in females.

p. 396-397, LO=10.1

Rationale: Primary are present at birth such as a vagina and secondary develop during puberty such as pubic hair.

191. Name two secondary sex characteristics in females.

p. 397, LO=10.1

192. How does the human body know which sex characteristics to develop?

p. 398, LO=10.1

193. How are gender roles and gender typing different?

p. 399-400, LO-10.2

Rationale: Gender roles are culture’s expectation of masculine and feminine roles and gender typing is the process of acquiring gender role characteristics.

194. What does the term gender identity mean?

p. 400, LO=10.2 

195. What is the difference between a transsexual and a transvestite?

p. 400, 4109, LO=10.2

196. Give an example of social learning theory as it applies to gender development.

p. 403-404, LO=10.3 
197. What is an example of a cognitive difference between men and women?

p. 405-406, LO=10.4

198. Describe two problems faced by researchers trying to determine the actual frequency of various sexual behaviors.

p. 412, LO=10.6

199. Give an example of a common sexual dysfunction and its symptoms.

p. 417-419, LO=10.8
200. Give an example of a sexually transmitted disease and its symptoms.

p. 420-421, LO=10.9 

ESSAY

201. How does the human body know which sex characteristics to develop beginning at the embryo stage? What is the term for someone born with both sex organs and what are some problems with sexual reassignment surgery?

p. 398-399, LO=10.1

Rationale: The embryo is influenced by chromosomes as well as hormones when developing. The gonads, Wolffian Ducts, and Mullerian Ducts also develop and contribute to this process. Someone born with both sex organs is called “Intersexed.” Problems with sexual reassignment surgery include pressure from doctors to reassign, the person often becomes depressed or anxious and feels “abnormal” compared to others in society, new developments in the rights of intersexed individuals to choose when of age versus infancy, and surgery could be contrary to the person’s actual chromosomal make up.

202. What is the difference between a person’s gender, gender identity, gender roles, and gender typing? How does biology, environment, and culture play a factor in this development?

p. 399-402, LO=10.2

Rationale:  Gender: the psychological aspect of being male or female; gender identity: the individual’s sense of being male or female; gender roles: the culture’s expectation of what is male and female; gender typing: the process of acquiring gender roles and characteristics. Biology: primary and secondary sex characteristics, hormones; Environment: pressure to conform to roles that are sex specific; Culture: individualistic versus collectivist.

203. What are gender roles? How are gender and sex different? Summarize any two of the four theoretical approaches to the development of gender roles in children. 

p. 399-405, LO=10.2-10.3

204. What are gender stereotypes? How does culture affect gender stereotyping? What role does the mass media play in gender stereotypes? 

p. 404-405, LO=10.3

205. What is androgyny? Is our society becoming more or less androgynous? What are the potential advantages and disadvantages of androgyny? 

p. 405, LO=10.3

206. What are the four stages of the sexual response cycle? Describe at least one element of each.

p. 408, LO=10.5

207. You are a counselor, and a couple comes to consult with you. They are worried that their high school age child is a homosexual. They want to know how this might have happened. What might you tell them, based on psychological research, about the factors that determine sexual orientation?

p. 414-415, LO=10.7

208. What are some of the major sexual dysfunctions?

p. 417-420, LO=10.8
209. What are the precautions that people can take to prevent STDs? Which are most effective in preventing STDs?

p. 424-425, LO=10.9
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